

## Some Comments on Rota's Umbral Calculus

DORON ZEILBERGER\*

*School of Mathematics, Georgia Institute of Technology, Atlanta, Georgia 30332*

*Submitted by G.-C. Rota*

Rota's Umbral Calculus is put in the context of general Fourier analysis. Also, some shortcuts in the proofs are illustrated and a new characterization of sequences of binomial type is given. Finally it is shown that there are few (classical) orthogonal polynomials of binomial type.

### PREREQUISITE

G.-C. Rota and co-workers' excellent papers, [A], [B], [C], are assumed. The present paper is simply a collection of footnotes, and certainly it makes little sense to read a footnote without reading the footnotec first.

### 1. THE CONNECTION WITH CONTINUOUS FOURIER ANALYSIS

Every shift invariant operator on  $C^\infty(R)$  is a convolution operator, that is, the Fourier transform of a multiplication by a function (see, for example, Ehrenpreis [3, p. 141]). The inverse Fourier transforms of polynomials are the distributions supported at the origin (Donoghue [2, p. 103]). Thus every shift invariant operator  $Q: \mathbf{P} \rightarrow \mathbf{P}$  is of the form  $p(x) \rightarrow [\phi(t) p^v(t)]^\wedge$ . Since  $(1/i) D$  corresponds to multiplication by  $t$ , it is possible to write  $Q = \phi(D)$  which is a special case of the expansion theorem. By E. Borel's theorem (Narashiman [4]) every formal power series is the Taylor series of some  $C^\infty$  function. Conversely every  $C^\infty$  function gives a formal power series. Thus if  $\phi(0) \neq 0$  we can expand any other  $C^\infty$  function  $\psi(t)$ , formally, in terms of  $\phi: \psi(t) = \sum a_n \phi^n(t)$ . Thus  $\hat{\psi} = \sum a_n \hat{\phi}^n$ , which gives the general expansion theorem.

### 2. SOME SHORTCUTS MADE POSSIBLE BY USING UMBRAL OPERATORS FROM THE BEGINNING

To every sequence  $\{p_n(x)\}$  for which  $\deg p_n(x) = n$  there is a linear operator  $\mathcal{P}: \mathbf{P} \rightarrow \mathbf{P}$  defined by  $\mathcal{P}(x^n) = p_n(x)$ ,  $n \in \mathbf{N}$ .

\* Current address: Department of Mathematics, University of Illinois, Urbana, IL 61801.

DEFINITION.  $\mathcal{P}$  is the basic operator for  $Q$  if  $\{p_n(x)\}$  is the sequence of basic polynomials for  $Q$ . In this case we call  $\mathcal{P}$  umbral.

In terms of this definition, the definition in [13, p. 688] reads

- (1)  $\mathcal{P}(x^0) = x^0$ ,
- (2)  $\mathcal{P}(x^n)(0) = 0, n > 0$ ,
- (3)  $Q\mathcal{P} = \mathcal{P}D$ , i.e.,  $Q = \mathcal{P}D\mathcal{P}^{-1}$ .

Thus, the operator  $\mathcal{P}$  is umbral if and only if  $\mathcal{P}D\mathcal{P}^{-1}$  is a delta operator and (1), (2) are satisfied and then  $\mathcal{P}$  is a basic operator with respect to  $\mathcal{P}D\mathcal{P}^{-1}$ . Similarly, it is possible to modify the definition in [B, p. 698] for Sheffer polynomials.

DEFINITION.  $\mathcal{S}$  is a Sheffer operator for the delta operator  $Q$  if

- (1)  $\mathcal{S}(1) = C \neq 0$ ,
- (2)  $\mathcal{S}D\mathcal{S}^{-1} = Q$ .

To illustrate the shortcuts made possible by these definitions, a short proof of Proposition 1 in [B, p. 703] will be given. In the present notation this proposition reads as follows.

PROPOSITION 1. Let  $\mathcal{P}$  be an operator  $\mathbf{P} \rightarrow \mathbf{P}$  with  $\mathcal{P}(1) = 1$ , and let  $A$  be a delta operator.  $\mathcal{P}$  is a Sheffer operator if and only if there exists a sequence  $\{s_n\}$  such that

$$\mathcal{P}^{-1}A\mathcal{P}(x^n) = \sum_{k \geq 0} \binom{n}{k} s_{n-k} x^k.$$

First we need

LEMMA 1.  $B$  is shift invariant if and only if there exists a sequence  $\{s_n\}$  such that

$$B(x^n) = \sum_{k \geq 0} \binom{n}{k} s_{n-k} x^k.$$

*Proof.*

$$B(x^n) = \sum_{k \geq 0} \frac{\binom{n}{n-k}}{(n-k)!} s_{n-k} x^k = \sum_{k \geq 0} \frac{s_{n-k}}{(n-k)!} D^{n-k}(x^n) = \left( \sum a_k D^k \right) (x^n).$$

The lemma follows from the expansion theorem.

LEMMA 2. Let  $A$  be a delta operator.  $B$  is shift invariant if and only if  $B.A = .AB$ .

*Proof.* By the expansion theorem.  
 Proposition 1 can now be rephrased.

PROPOSITION 1'. *Let  $A$  be a delta operator.  $\mathcal{P}$  is a Sheffer operator if and only if  $\mathcal{P}^{-1}A\mathcal{P}$  is shift invariant.*

*Proof.*  $\mathcal{P}D\mathcal{P}^{-1}$  is shift invariant  $\Leftrightarrow$  (Lemma 2)  $(\mathcal{P}D\mathcal{P}^{-1})A = A(\mathcal{P}D\mathcal{P}^{-1}) \Leftrightarrow D\mathcal{P}^{-1}A\mathcal{P} = \mathcal{P}^{-1}A\mathcal{P}D \Leftrightarrow D(\mathcal{P}^{-1}A\mathcal{P}) = (\mathcal{P}^{-1}A\mathcal{P})D \Leftrightarrow$  (Lemma 2)  $\mathcal{P}^{-1}A\mathcal{P}$  is shift invariant.

Since  $(\mathcal{P}D\mathcal{P}^{-1})(1) = 0$ ,  $(\mathcal{P}D\mathcal{P}^{-1})(x) = c \neq 0$ , the proposition follows.

### 3. UMBRAL CALCULUS AS FOURIER ANALYSIS ON $N$

The association of a sequence  $\{a_n\}$  with the linear functional  $T: \mathcal{P} \rightarrow \mathbb{C}$  defined by  $T(x^n) = a_n$ , is no more and no less the Fourier transform in the function space  $\mathcal{F}(N) := \{f; f: N \rightarrow \mathbb{C}\}$ .  $\mathcal{F}(N)$  is the dual of  $\mathcal{F}_0(N) := \{f: N \rightarrow \mathbb{C}; \text{support } f \text{ is finite}\}$ .  $\mathcal{F}_0(N) := \{\sum_0^N a_n x^n, \text{ for some } n\} := \mathbf{P}$  where we put  $x := e^{-in\theta}$ . Thus it is only natural to define  $\mathcal{F} = \mathcal{F}'_0 = (\mathcal{F}_0)^\vee = \mathbf{P}'$ , as is done in continuous theory (Ehrenpreis [3, p. 8]). For  $f \in \mathcal{F}$  one has  $\hat{f}(x^n) = \hat{f}(\delta_n) := f(\delta_n) := f(n)$ , where  $\delta_n(n) = 1$ ;  $\delta_n(k) = 0$ ,  $k \neq n$ .

### 4. THE UMBRAL ALGEBRA AND DELTA FUNCTIONALS

4.1. The product of linear functionals [C, pp. 101–103]  $LM(p(x)) = L_x M_y(p(x + y))$  is the unique product for which  $\delta_{x+y} = \delta_x \delta_y$ .

4.2. Setting  $\mathcal{P}(x^n) := p_n(x)$ , the property of  $\{p_n(x)\}$  being of binomial type (and  $\mathcal{P}$  an umbral operator), can be expressed  $\delta_{x+y}\mathcal{P} := (\delta_x\mathcal{P})(\delta_y\mathcal{P})$ , where  $\delta_x u := u(x)$ , for every real  $x$  and  $y$ . Setting  $\mathcal{P}(x) = \delta_x\mathcal{P}$ , we have a mapping  $R \rightarrow \mathbb{C}[z]'$  satisfying  $\mathcal{P}(x + y) := \mathcal{P}(x)\mathcal{P}(y)$  and thus there must be an  $L \in \mathbb{C}[z]'$ , the infinitesimal generator, such that  $\mathcal{P}(x) := \exp(xL)$ . Since  $\mathcal{P}$  is umbral, so is  $\mathcal{P}^{-1}$  (Proposition 1' with  $A := D$ ) and therefore there exists an  $L$  such that  $\delta_x\mathcal{P}^{-1} := \exp(xL)$ , which is Theorem 2(b) in [C, p. 106]. Conversely  $\exp xL$  satisfies  $\exp(x + y)L := (\exp xL)(\exp yL)$ , which implies that  $\mathcal{P}$  given by  $\delta_x\mathcal{P} := \exp xL$  is umbral which implies that  $\mathcal{P}^{-1}$  is umbral, which implies Theorem 2(a) in [C].

4.3. Note that if  $p_n(x) = \mathcal{P}(x^n)$ , the conjugate sequence  $q_n(x)$  is given by  $q_n(x) = \mathcal{P}^{-1}(x^n)$ . This proves Theorem 4 in [C, p. 111].

5. SOMETIMES THE MERE NOTION OF A LINEAR FUNCTIONAL CAN GO A LONG WAY

All the properties of Laguerre polynomials can be obtained by merely using the notion of linear functionals. It is not necessary that they be a basic sequence to some delta operator. Our approach is to forget that  $\{L_n(x)\}$  are polynomials, fix  $x := x_0$ , and consider the numerical sequence  $\{L_n(x_0)\}_{n=0}^\infty$ . Recall that

$$L_n(x) = \sum_{k=0}^n (-1)^k \binom{n}{k} \frac{x^k}{k!}, \tag{5.1}$$

and define  $T^x, L^x \in \mathbb{C}[z]'$ ,  $T^x(z^k) = x^k/k!$ ;  $L^x(z^k) = L_k(x)$  and extend by linearity. By (1.5) we have

$$L^x(z^n) := \sum_{k=0}^n (-1)^k \binom{n}{k} T^x(z^k) = T^x \left( \sum_{k=0}^n (-1)^k \binom{n}{k} z^k \right) := T^x((1 - z)^n).$$

Since  $(z^n)$  is a basis for  $\mathbb{C}[z]$  we have

$$L^x(u(z)) := T^x(u(1 - z)). \tag{5.2}$$

Also,

$$T^{ax}(u(z)) := T^x(u(az)). \tag{5.3}$$

Thus

$$T^x(u(z)) := L^x(u(1 - z)). \tag{5.4}$$

Putting  $u(z) = z^n$  in (5.4) yields the inverse formula

$$\frac{z^n}{n!} := \sum (-1)^k \binom{n}{k} L_k(x).$$

We also have

$$\begin{aligned} L^{ax}(u(z)) &= T^{ax}(u(1 - z)) = T^x(u(1 - az)) - L^x(u(1 - a(1 - z))) \\ &= L^x(u((1 - a) + az)). \end{aligned}$$

Thus

$$L^{ax}(u(z)) := L^x(u(1 - a + az)). \tag{5.5}$$

Putting  $u(z) = z^n$  yields Erdelyi's duplication formula [C, p. 137].

6. A NEW CRITERION FOR POLYNOMIAL SEQUENCES OF BINOMIAL TYPE

As already mentioned in Section 3, every function  $f: \mathbb{N} \rightarrow \mathbb{C}$  has a Fourier transform  $\hat{f}: \mathbb{C}[z] \rightarrow \mathbb{C}$  defined by  $\hat{f}(z^k) := f(k)$  (Rota's umbra). Assume  $f: \mathbb{N} \rightarrow \mathbb{C}$  is a solution of the difference equation with constant coefficients

$$\sum_{\alpha=0}^N C_\alpha f(n + \alpha) = 0; \tag{6.1}$$

then  $0 = \sum_{\alpha=0}^N C_\alpha f(n + \alpha) = \sum_{\alpha=0}^N C_\alpha f(z^{n+\alpha}) = f((\sum_{\alpha=0}^N C_\alpha z^\alpha) z^n)$ , for every  $n$ , and setting  $P(z) = \sum_{\alpha=0}^N C_\alpha z^\alpha$ , we have  $\hat{f}(P(z)u(z)) = 0, \forall u \in \mathbb{C}[z]$ . Thus  $f$  is a solution of  $\sum_{\alpha=0}^N C_\alpha f(n + \alpha) = 0$  if and only if  $\hat{f}$  annihilates the ideal  $P(z) \mathbb{C}[z]$ . Introducing the shift operator  $Xf(n) = f(n + 1)$ , one can write (6.1) as

$$\left( \sum_{\alpha=0}^N C_\alpha X^\alpha \right) f = 0.$$

Note that  $\widehat{Xf} = z\hat{f}$ , where for  $T \in \mathbb{C}[z]'$ ,  $zT(u) = T(zu)$ . (For discrete functions of several variables and partial difference equations, see Zeilberger [5].)

To consider difference equations with polynomial coefficients we simply note that

$$\widehat{nf}(z^n) = \hat{f}(nz^n) = \hat{f}\left(\left(z \frac{d}{dz}\right)(z^n)\right) = \left(z \frac{d}{dz}\right)\hat{f}(z^n),$$

for every  $n$ ; so the Fourier transform of multiplication by  $n, \hat{n}$ , is equal to

$$z \frac{d}{dz}, \quad \text{where} \quad \left(z \frac{d}{dz} T\right)(u) = T\left(z \frac{d}{dz} u\right), \quad T \in \mathbb{C}[z]', \quad u \in \mathbb{C}[z].$$

Thus if  $f: \mathbb{N} \rightarrow \mathbb{C}$  is a solution of  $P(x)f = (\sum_{\alpha=0}^N C_\alpha(n) X^\alpha)f = 0$ , where the  $C_\alpha$ 's are polynomials, the Fourier transform of  $P(x), \widehat{P(x)}$ , is a differential operator with polynomial coefficients and  $\hat{f}$  annihilates  $\widehat{P(x)} \mathbb{C}[z]$ .

**THEOREM.** *Let  $\{P_n(x)\}$  be a sequence of polynomials and let  $f^x(n) = P_n(x)$ ,  $n \in \mathbb{N}$ .  $\{P_n(x)\}$  is of binomial type if and only if there exists a shift invariant operator  $S: \mathbb{C}[z] \rightarrow \mathbb{C}[z]$  such that  $\hat{f}^x[(x - zS)u(z)] = 0, \forall u \in \mathbb{C}[z]$ .*

*Proof.* Suppose  $\hat{f}^x[(x - zS)u(z)] = 0$ , we have to show that  $\hat{f}^{x+y} = \hat{f}^x \hat{f}^y$ ; we have

$$\begin{aligned} \hat{f}^x \cdot \hat{f}^y[(x + y - zS)u] &= \hat{f}_z^x \hat{f}_w^y((x + y)u(z + w) - (z + w)(Su)(z + w)) \\ &= \hat{f}_z^x \hat{f}_w^y[(x - zS_z)u(z + w) + (y - wS_w)u(z + w)] \\ &= 0, \end{aligned}$$

since  $S$  is shift invariant. Therefore both  $\hat{f}^x \cdot \hat{f}^y$  and  $\hat{f}^{x+y}$  annihilate  $[x + y - zS] \mathbb{C}[z]$ , which is easily seen to imply  $\hat{f}^{x+y} = \hat{f}^x \cdot \hat{f}^y$ .

Conversely, if  $\{P_n(x)\}$  is of binomial type

$$\sum_{n=0}^{\infty} \frac{P_n(x) t^n}{n!} = \exp[xf(t)].$$

Differentiating with respect to  $t$ ,

$$\sum_{n=1}^{\infty} \frac{P_n(x) t^{n-1}}{(n-1)!} =: xf'(t) \exp[xf(t)] =: f'(t) \sum_0^{\infty} \frac{xP_n(x)}{n!} t^n.$$

Let  $[f'(t)]^{-1} =: \sum_0^{\infty} a_n t^n$  (remember that  $\gamma'(0) \neq 0$  and so  $[f'(t)]^{-1}$  exists), we have

$$\sum_0^{\infty} \frac{xP_n(x)}{n!} t^n = \left( \sum_0^{\infty} a_n t^n \right) \sum_{k=1}^{\infty} \frac{P_k(x) t^{k-1}}{(k-1)!}.$$

Comparing terms we obtain the recurrence equations

$$xP_n(x) = \sum_{k=0}^n a_k \left[ \frac{n!}{(n-k)!} \right] P_{n-k+1}(x), \tag{*}$$

which implies

$$f^x(xz^n) =: f^x \left[ z \sum_{k=0}^n a_k \left[ \frac{n!}{(n-k)!} \right] z^{n-k} \right] =: f^x \left[ z \left( \sum_{k=0}^{\infty} a_k D^k \right) z^n \right]$$

and the theorem is true with

$$S = \sum a_k D^k = [f'(D)]^{-1}.$$

*Examples*

- (i)  $P_n(x) = x^n$ ,  $P_{n+1}(x) =: xP_n(x)$ , so  $f^x((x-z) \mathfrak{C}[z]) = 0$  and  $S = I$ .
- (ii)  $P_n(x) = (x)_n$ ,  $P_{n+1}(x) =: (x-n)P_n(x)$ ,  $f^x[(x-z(1+d/dz)) \mathfrak{C}[z]] = 0$ . Here  $S = I + d/dz$ .
- (iii) Similarly, for  $P_n(x) = [x]_n$ ,  $S = -(I + d/dz)$ .
- (iv)  $P_n(x) =: L_n^{(-1)}(x)$  satisfy the three-term difference equation

$$xP_n(x) = P_{n+1}(x) + 2nP_n(x) + n(n-1)P_{n-1}(x),$$

so

$$f^x \left[ \left( x - z \left( 1 + 2 \frac{d}{dz} + \frac{d^2}{dz^2} \right) \right) \mathfrak{C}[z] \right] = 0.$$

Here  $S = (1 + d/dz)^2$ .

(v) In the above examples the shift invariant operators  $s$  were differential operators with constant coefficients, of finite order.

We now illustrate an example where  $S$  is another shift invariant operator. (Of course every shift invariant operator is an infinite (or finite) differential operator with constant coefficients.)

The exponential polynomials  $\{\phi_n(x)\}$  satisfy [A, p. 204; C, p. 139]

$$\phi_{n+1}(x) = x(\phi + 1)^n, \quad \text{i.e.,} \quad \phi_{n+1}(x) = x \sum_{k=0}^n \binom{n}{k} \phi_k(x),$$

which in our notation is

$$\hat{\phi}^x(z^{n+1}) = x\hat{\phi}^x((1+z)^n), \quad \text{i.e.,} \quad \hat{\phi}^x[zu(z) - xu(1+z)] = 0 \quad \forall u \in \mathbb{C}[z].$$

Replacing  $u(z)$  by  $u(z - 1)$  we obtain

$$\hat{\phi}^x[(x - zE^{-1})\mathbb{C}[z]] = 0, \quad \text{where} \quad E^{-1}u(z) = u(z - 1).$$

Thus  $S = E^{-1}$ .

### 7. THERE ARE FEW ORTHOGONAL POLYNOMIALS OF BINOMIAL TYPE

The basic Laguerre polynomials  $L_n^{(-1)}(x)$  are both orthogonal (in the classical sense) and of binomial type. We will show that there are not many more such sequences. A sequence of polynomials  $\{P_n(x)\}$  is said to be orthogonal, in the classical sense, if there exists an  $\mathcal{L}: \mathbb{C}[z] \rightarrow \mathbb{C}$  such that the inner product is given by  $(P(z), Q(z)) = \mathcal{L}(P(z)Q(z))$ . Recall (Chihara [1], p. 13) that every sequence of (monic) orthogonal polynomials satisfies a three-term recurrence relation  $xP_n(x) = P_{n+1}(x) + A(n)P_n(x) + B(n)P_{n-1}(x)$ . On the other hand, a sequence of polynomials of binomial type satisfies

$$xP_n(x) = \sum a_k(n)_k P_{n-k-1}(x). \tag{*}$$

Thus,

**PROPOSITION.** *The only orthogonal polynomials of binomial type are those satisfying a recurrence relation of the form*

$$xP_n(x) = P_{n+1}(x) + aP_n(x) + bP_{n-1}(x).$$

Note that for  $L_n^{(-1)}(x)$ ,  $a = 2$  and  $b = 1$ .

*Note added in proof.* S. A. Joni kindly pointed out that the idea of Section 2 was first conceived by A. M. Garsia in *J. Lin. Mult. Algebra* 1 (1973), 47-65. Also M. Ismail informed us that the result of Section 7 goes back to Sheffer.

### REFERENCES

A. R. MULLIN AND G.-C. ROTA, Theory of binomial enumeration, in "Graph Theory and Its Applications," Academic Press, New York/London, 1970.  
 B. G.-C. ROTA, D. KAHANER, AND A. ODLYZKO, Finite operator calculus, *J. Math. Anal. Appl.* 42 (1973), 685-760.

- C. S. M. ROMAN AND G.-C. ROTA, The umbral calculus, *Advances in Math.* 27 (1978), 95-188.
1. T. S. CHIHARA, "An Introduction to Orthogonal Polynomials," Gordon & Breach, New York, 1978.
  2. W. F. DONOGHUE, JR., "Distributions and Fourier Transforms," Academic Press, New York, 1969.
  3. L. EHRENPREIS, "Fourier Analysis in Several Complex Variables," Interscience, New York/London, 1970.
  4. R. NARASHIMAN, "Analysis on real and complex manifolds" Elsevier, New York, 1973.
  5. D. ZEILBERGER, Binary operations in the set of solutions of a partial difference equation, *Proc. Amer. Math. Soc.* 62 (1977), 242-244.